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Use ALMN to find sin L, cos L, tan L, sin M, cos/I\M, and tan M.
Express each ratio as a fraction and as a decimal to the
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‘ 3. sin 92.4

.3) cos A=0.7431

Trigonometry

nearest hundredth.
1.£=15,m = 36, n= 39
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2.€=12,m=12‘\{_,n=24
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Use a calculator to ﬁnd each value. Round to the nearest ten-thousandth.

4. tan 27.5

5. cos 64.8

A % '
g‘ __?Find the measure of each acute angle to the nearest tenth of a degree:

(\\13%\%8?/9. sin B = 0.7823 10. tan A = 0.2356

J(\\‘k Find x. R ' 2]
x. Round to the nearest tenth.
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Find each angle mensure(tn lult degree.

1) sin B =0.4848
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5) cos A=0.5878
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7 cos A=0.4226
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angle to tQ nearest degree,

11. cos R = 0.6401
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_ Angles of Elevation and Depression

Name the angle of depression or angle of elevation in each figure.

1.
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feet-above the ground, what is the angle of elevation to the top of the bridges? Round to
the nearest tenth degree. '

6. SHADOWS Suppose the sun casts a shadow off a 35-foot building.
If the angle of elevation to the 'sun is 60°, how long is the shadow
to the nearest tenth of a foot?
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7. BALLOONING From her position in a hot-air balloon, Angie can see her car parked in a
field. If the angle of depression is 8° and Angie is 38 meters above the ground, what is
the straight-line distance from Angie to her car? Round to the nearest whole meter,

8. INDIRECT MEASUREMENT Kyle is at the end
of a pier 30 feet above the ocean. His eye level is
3 feet  above the pier. He is using binoculars to
watch'a whale surface. If the angle of depression
of the whale is 20°, how far is the whale from
Kyle’s binoculars? Round to the nearest tenth foot.

whale




3 — The Law of Sines |

i . . . '
i Find each measure using the given measures from AEFG. Round angle measures
.‘ to the nearest tenth degree and side measures to the nearest tenth.,

1. IfmsG = 14, mLE = 67, and e = 14, find g.

2. Ife = 12.7, m£LE = 42, and m/F = 61, find f.

Solve each ASTU described below. Round measures tb the nearest tenth.

R 6.msT = 85,s = 4.3,t = 8.2

7.5 =40,u = 12, m£S = 37

The Law of Cosines

5 i In AJKL, given the following measures, find the measure of the missing side.
1 1.j=13k%=10,msL =TT \
* 2.j = 9.6, ¢ = 1.7, msLK = 43

7

In AMNQ, given the lengths of the sides, find the measure of the stated angle to
the nearest tenth.

5.m =17,n =23,q = 25; m£LQ

6.m =24,n=28,q9g =34, mLM

Determine whether the Law of Sines or the Law of Cosines should be used first to
solve AABC. Then sole esch triangle. Round angle measures 3:0 the nearest degree

and side measure to the nearest tenth.

9.0 =13,b =18,c¢ =19 10.a = 6,b =19, m+C = 38

11.a = 17,b = 22, m£B = 49 12.¢ = 15.5,b = 18, m£C = 72
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